

$$A \quad \varphi: \mathbb{K}^n \rightarrow \mathbb{K}^m \quad \varphi(x) = A \cdot x$$

$$B \quad \varphi: \mathbb{K}^n \rightarrow \mathbb{K}^m \quad \varphi(y) = B \cdot y$$

$$h_0(A) = \dim \text{Im} \varphi, \quad h_0(B) = \dim \text{Im} \varphi$$

$$A \cdot B \iff \varphi \circ \varphi \quad \text{Im}(\varphi \circ \varphi) \subseteq \text{Im}(\varphi)$$

$$h(A \cdot B) = \dim \text{Im}(\varphi \circ \varphi) \leq \dim \text{Im}(\varphi) = h(A)$$

$$r(A \cdot B) = r((A \cdot B)^T) = r(B^T \cdot A^T)$$

$$\Rightarrow r(B^T) = r(B)$$

$$B = B \cdot I_3 =$$

$$A \cdot B = I_3 \cdot BA$$

$$= (B \cdot A) \cdot C =$$

$$(A \cdot C) = I_3 \cdot C = C$$

$$A A^{-1} = I_3 = A^{-1} \cdot A$$

$$\begin{aligned} 3 - \operatorname{rk}(I_3) &= \operatorname{rk}(A A^{-1}) \leq \min(\operatorname{rk}(A), \operatorname{rk}(A^{-1})) \\ &\leq \operatorname{rk}(A) \leq 3 \quad \Rightarrow \quad \operatorname{rk}(A) = \underline{3} \end{aligned}$$

$$\operatorname{rk}(A) = 3 \quad \varphi: \mathbb{K}^3 \rightarrow \mathbb{K}^3, \quad \varphi(x) = Ax$$

$$\dim \operatorname{Im} \varphi = \operatorname{rk}(A) = \operatorname{rk}(A) = m$$

$\varphi: \mathbb{K}^m \rightarrow \mathbb{K}^m$, φ is invertible.

$$\dim \mathbb{K}^m = \dim \operatorname{Ker} \varphi + \dim \operatorname{Im} \varphi$$
$$\begin{array}{ccc} \parallel & & \parallel \\ 3 & & 0 \\ \parallel & & \parallel \\ 3 & & 3 \end{array}$$

$$\exists \varphi^{-1} \leftrightarrow A^{-1}$$

$$\Rightarrow A \cdot B = I_3 \iff B \cdot A = I_3$$

$$A \mapsto \varphi \quad \varphi: \mathbb{K}^3 \rightarrow \mathbb{K}^3, \quad \varphi(x) = Ax$$

$$B \mapsto \psi \quad \psi: \mathbb{K}^3 \rightarrow \mathbb{K}^3, \quad \psi(y) = By$$

$$A \cdot B = I_3 \mapsto \varphi \circ \psi = \text{id}_{\mathbb{K}^3}$$

$$A^{-1}A = I_m \quad \checkmark$$

$$(B^{-1}A^{-1})(AB) = B^{-1}B = I_m$$

$$(A^{-1})^{-1}A = I_3 \quad (A^{-1})^{-1} = I_3 \quad (I_3)^{-1} = I_3$$

$$A \equiv \begin{pmatrix} \lambda_1(A) \\ \vdots \\ \lambda_i(A) \\ \vdots \\ \lambda_m(A) \end{pmatrix}$$

$$B \equiv \begin{pmatrix} \lambda_1(A) \\ \lambda_\gamma(A) \\ \lambda_i(A) \\ \lambda_m(A) \end{pmatrix}$$

$$i \in \gamma \quad \delta$$

$$i < j \quad \delta$$

$$I_m \equiv \begin{pmatrix} 1 & & & \\ & \ddots & & \\ & & 0 & \\ & & & \ddots & \\ & & & & 1 \end{pmatrix}$$

$$FA \equiv \begin{pmatrix} \lambda_1(A) \\ \vdots \\ \lambda_j(A) \\ \lambda_m(A) \end{pmatrix}$$

$$FA \equiv \begin{pmatrix} \lambda_1(A) \\ \vdots \\ \lambda_j(A) \\ \vdots \\ 0 \\ \vdots \\ \lambda_m(A) \end{pmatrix}$$

$$FA \equiv \begin{pmatrix} \lambda_1(A) \\ \vdots \\ 0 \\ \vdots \\ \lambda_m(A) \end{pmatrix}$$

$$\underbrace{\begin{pmatrix} I_1 & & & \\ & E_{2 \times 2} & & \\ & & \dots & \\ & & & I_n \end{pmatrix}}_{A^{-1}} \cdot A = I_n$$

← Sautim reg. matric je regularni.

⇒ $A^{-1} \quad A = (A^{-1})^{-1}$ Razida inverz matrice je Sautim elementarna.

$$A \sim A_1 \sim A_2 \sim \dots \sim A \stackrel{=}{{\equiv}} B$$

$$A_1 \stackrel{=}{{\equiv}} A \quad A_2 \stackrel{=}{{\equiv}} A \quad \dots \quad A \stackrel{=}{{\equiv}} A$$

$$B \stackrel{=}{{\equiv}} A \stackrel{=}{{\equiv}} \left(\begin{matrix} \text{---} \\ \text{---} \\ \text{---} \end{matrix} \right) A$$

$$\text{rk}(P \cdot A) \leq \text{rk}(A)$$

$$\text{rk}(A) = \text{rk}(P^{-1} \cdot \underbrace{(P \cdot A)}_{\text{~~~~~}}) \leq \text{rk}(P \cdot A)$$

$$\varphi : \mathbb{V} \rightarrow \mathbb{W}$$

\Downarrow α

$$\varphi = \text{id}$$

$$(\varphi)_{\alpha, \beta} = \left((\varphi|_{T_1})_{\alpha_1}, \dots, (\varphi|_{T_n})_{\alpha_n} \right)$$

$$P_{\alpha, \beta} = \left((T_1)_{\alpha_1}, \dots, (T_n)_{\alpha_n} \right)$$

$$(\varphi(x))_{\alpha} = (\varphi)_{\alpha, \beta} (x)_{\beta}$$

$$\left(\begin{array}{c} \times \\ \times \end{array} \right) \alpha \parallel A \alpha, \beta \left(\begin{array}{c} \times \\ \times \end{array} \right) \beta$$

$$\begin{array}{c} \times \\ \times \end{array} \parallel \begin{array}{c} \rightarrow \\ \rightarrow \\ \rightarrow \end{array} \\ \left(\begin{array}{c} A \\ \sim \end{array} \right) \alpha \parallel P_{\alpha, \beta} \cdot \left(\begin{array}{c} 1 \\ 0 \end{array} \right) \parallel \rho \wedge \left(P_{\alpha, \beta} \right)$$

$$\begin{array}{l}
 (I) \Rightarrow (II) \\
 (II) \Rightarrow (III)
 \end{array}
 \left. \begin{array}{l}
 (III) \Rightarrow (II) \\
 \alpha P(\alpha)_B = B(\alpha)_B = \alpha
 \end{array} \right\}$$

$$\begin{aligned}
 \forall T_j &= \alpha \cdot (V_j)_\alpha = \alpha \cdot D_j(P_{\alpha, B}) = \\
 &= D_j(\alpha \cdot P_{\alpha, B}) \\
 B &= \alpha P_{\alpha, B}
 \end{aligned}$$

$$P_{\alpha, \alpha} = ((u_1)_\alpha, \dots, (u_m)_\alpha) =$$

$$= \left(\begin{pmatrix} 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 0 \\ 1 \end{pmatrix}, \dots, \begin{pmatrix} 0 \\ 1 \end{pmatrix} \right) = I_3$$

$$(\mathbb{X})_\beta = P_{\beta, \alpha} (\mathbb{X})_\alpha$$

$$= \left(P_{\beta, \alpha} \right)^{-1} (\mathbb{X})_\beta = (\mathbb{X})_\alpha$$

$\stackrel{P_{\alpha, \beta}}{=}$

$$P_{\alpha, \beta} \cdot P_{\beta, \sigma} = (\text{id})_{\alpha, \beta} \cdot (\text{id})_{\beta, \sigma} = \\ = (\text{id})_{\alpha, \sigma} = P_{\alpha, \sigma}$$

P *neg* α *ordim*

$$P = P_{\alpha, \beta}$$

$$\alpha \cdot P = \beta$$